Resistors

R103=0.0
R104 =0.0
R105=0.0
R106 =-45.2
R107 =-45.1
R108=1.6
R109=1.6
R110=0.0
R111=0.0
R112=0.0
R113=1.64
R114=1.66
R115=15.09
R116=0.0
R120=0.0
R121=2.42
R123=0.0
R125=0.0
R126 =15.09
R127=15.09
R128 =-45.9
R129 =-45.6
R130=-0.03
R131=-0.03
R132=0.71
R133=0.71
R134=0.0
R135=0.0
R156 =-45.7
R158 =-45.6
R159=0.0
R160=0.0
R178=-13.93
R179=-13.8
R180=-14.48
R181=-151
R182=0.0

Transistors

REF E
Q106 5.88
Q107 -15.06
Q108 5.96
Q109 -15.06
Q110 14.16
Q111 -0.61
Q113 01
Qli6 -0.6
Q117 -14.57
Q118 -14.48

Q119 -151

0.0
0.0
0.0
-45.2
-45.1
1.6
0.0
0.0
1.62
0.0
1.64
1.64
6.0
-0.0
0.0
241
0.0
0.0
14.14
13.53
-45.9
-45.8
-0.0
0.0
0.79
0.01
0.0
0.0
-45.6
-46.1
-45.6
0.0
-12.65
0.0
-15.09
-14.57
0.0

12.82
-14.52
5.15
-14.33
13.54
0.01
0.1
0.0
-13.92
-13.87
-14.48

R3=0.0
R4=3.6
R5=0.0
R6=-42.4
R7=-423
R8=44.8
RO=16
R10=-14
R11=0.0
R12=-14
R13=44.8
R14 =448
R15=151
R16=0.0
R20=3.6
R21=1.64
R23=0.0
R25=0.0
R26=15.1
R27=151
R28 =-45.8
R29=-45.8
R30=-0.02
R31=-0.02
R32=0.28
R33=0.28
R34=0.0
R35=0.0
R56 =-45.5
R58 =-45.8
R59=0.0
R60=0.0
R78 =-13.95
R79=-13.9
R80=-14.5
R81=-15.1
R82=3.6
c

-14.52
241

2.43
-14.53
5.24

5.34

0.1

12.84
-14.48
-0.59
-13.86

0.0
3.6
3.6
-42.4
-45.9
44.8
0.0
0.0
1.6
0.0
41.1
40.5
13.6
-0.0
3.6
1.64
0.0
0.0
14.2
13.6
-45.8
-46.1
-0.0
0.0
0.31
HiH
HitH
HHH
-45.5
-45.4
-45.5
0.0
-13.3
0.0
-15.1
-14.7
3.6

REF
Q6
Q7
Q8
Q9
Q10
Q11
Q13
Q16
Q17
Q18
Q19

E
13.53
-13.03
13.54
-13.06
14.25
-0.6
3.6
-0.6
-14.68
-14.49
-15.1

B
12.92
-12.43
12.94
-12.43
13.61
% %k %k
3.6
0.0
-13.94
-13.88
-14.49

C
-12.41
-1.95
2.2
-12.42
12.94
12.93
0.0
12.93
-14.49
-14.49
-0.59



Output Transistors

REF E
Q103 1.66
Q104 1.64
Q105 0.0
Q112 -459
Ql14 -46.0
Diodes

D101 =

D102 =0.0
D103 =0.0

D104 =46.0

c
-0.0
1.65
-46.1
0.0
0.0

1.7
0.0
46.0

]
1.65
242
242
-45.9
-45.7

REF
Q3
Q4
Q5
Q12
Q14

D2 =459
D3=36
D4 =-42.4

41.7
1.65
-1.4
-46.0
-46.1

45.2
0.0
-46.0

c
3.67
41.0
-42.5
3.6
0.0

]
41.2
221
-1.96
-46.0
45.7



